ve)
Q

O 40° @ 45° @ 50° @55° ® 60°

Lx = (180° — 70°) + 2 = 55°




® BC = AD
@ AD =AC
® /B = /BAD

(@) ,ADB = 90°
©® aABD+ ol sz olt.

ofl

AABD = AADC (SAS 3H%)




t}. /BAC = 70°

® sABC @)/ACB ® (EAC

ZolE Aoz /BAC = /DAC = 70° o]t} /DAC =
(ACB (%1Z}) o]t}
wrabA] /BAC = /ACB o]t}




4. o2 3N H o0& AZMZEE ABC 9 @l4do|th. AB = 16cm €
o, x 9] Zol=?

@ 4cm @ 6cm @SCm @ 10cm ® 12cm

A 07} aABC Y] Q0B R
OA = 0B = OC o|t}.
- x=0C = 8(cm)




o3 A ABC 9] 4SO =t & o, zx o] 27|17

100 @15 ® 20° @ 25° ® 30°

AAOC oA 1OAC = /OCA , ZAOC+ /OAC+ /OCA = 180°
, LOCA = 35°
L/OAB + /OCA + zx = 90° , zx = 90° — 40° — 35° = 15°




@ 94

—

<

olaL Al FoA 22 72 ]

Qe Al zte ol 5E A B
QU Aolct. whebd o]t




/AOB 9] YjFof - A P oA & OA, OB 9] A,
el A0 ke Zb7 ¢,D 2t g o, PC = Is

PD ©| ACOP = aADOP & 55 5}7] f1alA

0] 235t FHEZ 7129

H T .

@ SSS 5
@ RHA %

® ASA &

/PCO = /PDO = 90°, OP(&%), CP = PD ©|2& ACOP =

ADOP = RHS &&o|t}.




th2 1388 Mgt A P oA = ¥ OA, OB Wi

o 2410 ¥k 7}7E , Rojet & 1, PQ = PR Q

o]® OP %= /AOB 9] o] 52 4ot} | 2 Hol7] '

ola) 28 Aol b = Wag 70| opd ‘
o [ ]

729

® PQ=PR ® OP = &%
® /PQO = /PRO @) .qop = /rROP
® aAPOQ = APOR

~&B

@ Holg= ZolBg dast 27o] ofyrtt.
APOQ £} APOR ©f|A]

i)OP £ 3% (©)

i) PQ = PR (D)

iii) /PQO = /PRO = 90° (®)

i), ii), iii) ol 28 APOQ = APOR

(RHS &%) (®)°]tt.
e =9 g2 gon=

L/QOP = /ROP ©|2& OP & /AOB 9] o] 5 & o]t}




9.

o2 1A H O7F aAABC 9] QJ4oletal &
ojth. sx 9] A7|=?

® 40° @)42° ® 44° @ 46°

o, /OBC = 48°

® 48°

AOBCE °lsHAZ g0l B
LOBC = OCB = 48°
(BOC =84°

AABC oA /BAC = %ABOC =42°




10. o3 I8l " 171 aABC O WA A o, 2x 9] A27]+=7

A

@® 15° @ 20° ® 25° @ 30° ®)35°

30°+25°+ /x=90°
S /x=35°




11. o= J"-IA H 17 Ao d L o, w8 2717

A

40 C

@ 20° @ 30° @40° @ 50° ® 60°

/x =180° - (40° +30°) x 2 =40°




12. ©hg 23} 2] A We] 2ol7k 22t 6em, Sem , 10em A AH7H
AABC 7} it A 1+ aABC 9] Yilo| i o] ¥iz]F2] dol7}t
2cm € ] AABC 9] Hlo]=?

@ 16cm? @ 18cm? ® 20cm?

@ 22cm? ®)24cm?

1
AABC = 5><2><(6+8+10):24ch ojt.




13. t& 2"oA H 1+ aABC ¢ Yol DE/BC &€ W, x 2
Zdol&?

@1 @ 2 @ 3 @)4 ® 5

A 17} Y4lo] 3, DE // BC ¢ uf, DE = DI + Bl = DB + BC
o|m g
7= 3+ x olch. metA x =4 o]tk




AABC A /B = olmg
/PBC =) Jx B = 3 x [0 |=[h ]
utebA APBC & ott.

Oh ~ @poll Eo1Z Aoz 4 gL ALY

@ pj .C @u 2
® @ «C @ @) ,PCB

© @) ol sHHAR

B

AABC 94 /B = («C)olBE=2
1 1
(PBC = (§> x /B = 3% (4C )= («PCB)

wretbA] APBC &= ( ©l58AZE ) ot




15. F 274719 ABC, DEF 7} th= 193 22 o, DF 9] Zo]&?

@ 6cm @ Tcm 3)8cm @ 9cm ® 10cm

ACAB, ADEF = RHS $&5
~.DF = CB = 8m




16.

ohg 193} gol M AB
S|4 AB ¢ 5 P &
A S4el we 22,

4cm, /PAC =40° ¥ o,

@® 36 @ 44 ® 46 @)54 ® 58

~&B

APAC 2} APBD ©f|A]

(PCA =/PDB=090°---Q
PA=PB---©

LCPA = /DPB=y°---®

Q,0,0°1 2J3l APAC = APBD(RHA)
AR o] Wzte] o2 180° 0|2 =

Ly =180 — 40 — 90 = 50°,
x=40°]|B& o]& §s5lH 54 o[t}




17.

oF& 1A A T aABC o WAle]a, A & D,E,F & 22} WA

A3} Al ¥ AB,BC,CA 9] FHo|t}. AD = 2cm, BD = 3cm, AC =
8cm ¢ W, BC 9] Zo|&?

@ 6cm @ Tcm @ 8cm @9cm ® 10cm

B ~

A 171 4432l YAo|22 AD = AF,BE = BD,CE = CF

o|th.
AD = AF = 2cm,BE = BD = 3cm, CE = CF |22 CF =
6cm = CE o]t}

w2tA BC = BE + EC = 3 + 6 = 9(cm) ©]t}.




18. AABC oA AB = AC ©]1, /C 9] 9]Z}9] o] 52 A7} /B 9] o] &
Aol wAL Dt gl A =70° D o, /D 9] 27]=9

A
A D

B~ x E

@® 32.5° @ 35° ® 37.5° @ 40° ® 425°

AABC 7} o] S A Z ol g
1

(ABC = /ACB = =(180° — 70°) = 55°

2
(ACD = l(AA + £ABC)
= 5(7O° + 55°)
= 62.5°
1 1
/DBC = é(zABC) =5% 55° = 27.5°

o /D = 180° — (27.5° 4 55° + 62.5°)
= 180° — 145°
= 35°




19. o2 283} Zol A2z ABC o] 2zl EHAIZY A o4 "I BC
o] & =410l ¥h-& D 2t 51, BC 9] 542 M ]2t 5k} £C = 55°
A o, /ZAMB - /DAM 9] 37|79

A

55\
C

O 70° @ 75° @ 80° @ 85° @90°

2241719 o] 819 BC ©] 57 M 2 AABC 9] eJ4lolt}.

ol

/ABM = 35°, /DAC = 35°°]1 AABM 2 o|SHAZF (-
BM = AM)

. ZABM = /BAM = 35°

/AMB = 180° - 35° - 35° = 110°

/DAM = /A — /BAM — /DAC = 90° — 35° — 35° = 20°
wtakA /AMB - /DAM = 110° - 20° = 90°




20. oS 19} Zo] AB = AC ¢l o] 5HAZIY ABC oA A 0 =
oA, A1+ WAiloela, /A =38° ¢ wf,,OBI 9] 27]&?

A
38

o 290 330 o o
O 13 @) 5 @? @ 16 ® 17

/BOC =2x/BAC=2x38°="76°
.. LOBC = 52°

(BIC =90° + %ABAC =109°,

1 71
/IBH= - x/ABC = —°
2 % 2

zx:zOBI:zOBC—zIBH:52°—72—1°:3—23°




